Name Date
Mr. Schlansky Geometry

Linear Equations Through a Point Multiple Choice

1. What is the equation of a line that passes through the point (—3,—11} and is parallel to the line whose
equation is 2x —y =47

1) y¥=2x+5 3) 125
y=Sx+3

2) ¥y=12x=-5 4) __lx_E
2 P

2. What is an equation of the line that passes through the point {(—2, 5} and is perpendicular to the line

L 1
whose equation is ¥ = Sx+ 5?

1) y—52%(x+2) 3) y+5=%(x—2)
2) y=5=-2(x+2) 4) y+5=-2(x-2)

3. What is an equation of the line that contains the point (3,1} and is perpendicular to the line whose
equation is y = —3x +2?
1) y=—-3x+%8 3)

by

¥y
2) y=-3x 4)

=
|
[

¥

4. An equation of the line that passes through {2,-1} and is parallel to the line 2y + 3x = & is
1) y+1:—%(x—2) 3) y—lz—%(x+2)

2) y+1:§(x—2) 4) y—lz%(x+2)



5. What is an equation of the line that is perpendicular to the line whose equation is y = % x-2

and that passes through the point (3, -6)?

D y=%x—11
2) _}»‘=—%x+11

3 y=—%x—1

Y y=%x+1

6. The equation of a line is y = 2 ¢ +5. Whatisan equation of the line that is perpendicular to

3
the given line and that passes through the point (4,2)?
F=3*73
2) ,-3,_
y=5x 4
3) ,-_3
¥ 2x+7
4 ,__3
y= 2x+8

7. What is an equation of the line that passes through the point (t, &) and is perpendicular to a line

with equation y = % X+ 57

D y—8=§(x—ﬁ)
2) y—8=—%(x—ﬁ)
3) y+8=§{x+ﬁ}
4)

y+8=—%(x+ﬁ)

8. What is an equation of a line which passes through (6, %) and is perpendicular to the line whose
equation is 4x — fiy = 157

D y—9=—§ (x— )
2)

(AR

y-9==(x—f)

3) y+9=—§(x+ﬁ)

4) y+9=%(x+ﬁ)



9. What is an equation of a line that is perpendicular to the line whose equation is 2y = 3z — 10
and passes through (-6, 1)?

D __ . 3) ,_2
y=-3% B y—3x+1
2) y=—%x—3 4) y=%x+1[l

10. Which equation represents the line that passes through the point {—Z, 2} and is parallel to

y=%x+8?
., _1
y_zx
2) ¥=-éx-3
3) y=%x+3
4) y=-2x+13

11. What is an equation of the line that passes through the point {7, 3} and is parallel to the line
dx+ 2y =107

1)y—3=%(x—7) 3) y+3:%(x+7)
2) y=3=-2(x-17) 4) y+3=-2(x+7)

12. What is an equation of the line that passes through the point (=2, 3} and is parallel to the line whose

equation is ¥ = % x—4?

1) -2
.}F_ 3?‘:
D
Y=3%"3
3) 3
.}?_2?‘-
Y y=§x+ﬁ



13. Write the equation of a line perpendicular to 4y +3x =10 that passes through (-1,0).

3 3
1) y=—"(x+1 ) y+l=—x
)y 4( ) )y 1

2)y:g(x+D 4)y+1:gx

14. Given M shown below, with A#i—6, 13 and #73,-5), what is an equation of the line that
passes through point (5, 13 and is parallel to 44 ?

y

h

T~

D, __z
¥ 3x+5
2) i,
y=-3% 3
3) y=Ex+T
2
Do, 3,
y=3x 8



